
on paper 5 
drawing is : 

(i) 	1 : 1 

(iii) 	1 : 100 
Slip is used for : 

(i) 	Beating clay 

(iii) Baking clay 
Ageing of clay : 

increases plasticity 
decreases plasticity 
increases porosity 
decreases porosity 

1. 

Compulsory Question 

Choose the most appropriate answer : 
If a 0.5 mm long organism figure is 

cm long. The scale 
(a) 

10x2=20 
drawn 
of the 

(b)  

(c)  

(ii) 	1 : 10 
(iv) 100 : 1 

(ii) 	Joining clay 
' (iv) Crushing clay 
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(d) Why did Munni tell Halku to leave farming 

in the story "Pus Ki Raat" ? 

(i) Haiku was getting a job in the city 

(ii) Haiku was ill 

(iii) The money earned by farming was not 
sufficient 

(iv) Haiku dydri t want to do farming 

because of weather conditions 

(e) 	Clay pots are important in our life because : 

(i) they are very strong 

(ii) they are cheaper 

(iii) they look better 

(iv) they ai e good for the environment 

(f) 	Analogous colours are : 

(i) Any three colours which are side by 

side on the colour wheel 

(ii) Alternative name of the tertiary 
colours 

(iii) Any two colours which are directly 

opposite to each other on the colour 
wheel 

(iv) formed by mixing primary colours 

and secondary colours 
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(g) Match the following in the context of 

market segmentation : 

Characteristics 	Type of segmentation 

(i) Sports orientation (A) Geographic 

(ii) Heavy user 	(B) Demographic 

(iii) Occupation 	(C) Phisiographic 

(iv) Climate 	(D) Behavioural 

(h) Which one of the following is a pricing 

technique ? 

(i) 	Made in Pricing 

(ii) Market Pricing 

(iii) Mark up Pricing 

(iv) Modulus Pricing 

(i) 	Which one of the following is an organic 

form ? 

(i) Organic structure of Benzene 

(ii) Octagonal shape 

(iii) Hexagonal shape 

(iv) Shape of a randomly picked stone 

(j) Which one of the following is NOT a hand 

built technique ? 

(i) Coiling 	(ii) Coning 

(iii) Pinching 	(iv) Slab Making 

2. 	Write a verse of 'Kabir' or 'Rahim' you remember 10 
and draw sketches depicting its meaning. 
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3. Draw sketches of different steps of making a 	10 
'surahi' on wheel. 

4. Draw sketch of an elephant and a mouse in 10 
proper proportion. Also mention the scale of the 
drawing. 

5. Prepare a catalogue of your three best products. 	10 

6. Draw sketches of different steps of making a 10 
suitable pot using slabs. 

7. Write the various steps of design explaining them 10 
briefly. 
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1. -q • : 	 10x2=20 

(a) 	-zIfq0.5#1.4-11 	71-a chi -c1-71 *141\1 LR 

5 -k1:1I -41 11K.H ,311c-11t -dr r=4,1  	 

(i) 	1:1 	 (ii) 	1:10 

(iii) I :100 	(iv) 100 : 1 

(b) 	fRT4 cbi 1;171)7 f*-717 \TI I 	 t : 

(i) 	ff c( tat 	(ii) fit *1 \rtls 

#rt 	-Erwr4 -4 	(iv) frr--  4)r 	9T -14 

(c) 	1i tThl: 

(i) 	71-rfrrTra Giq.)1c-11 t I 

rtirrTF1:1th 	lcIIt I 

fUOT (41Ut-i1.) 	itti 

(iv) fit (Rr) 	Riit I 
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(d) -74 a.)1 1c1' -W-6T91- 	41 Tr chl 

(i) Tff 	vrg1 fHciqt.  

Tff 'qt11-R PTT I 

4t14 -1=17 4R 4# -97671 	 

(iv) -414-1 	---Ruf t 	4-dl-  WcqT 	-c1W11 

Sri 

(e) 4171 ttO 	4-1ccrEpf T-2,19 Ttff 
• ,  

: 

(f) 

t I  

(iv) 	- ft 	gd 	cb1 fug 
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(g) 	011•111(141chtul(411-0t 494 -14F-14-1 	_qc-1 

f-4-*7-c4 	 fiTot" 

31f411MTur 	 chon 

(i) -4-6-t7 	1d"piq 	(A) 4)-rt(F.T 

(ii)3474-  fq-. 	r -*-T4 .10 (B) 	sqr=4->li 

(iii) (Y-1 01 'H 
	 (C) 

(iv) 4R:11  4721T cildlcikul 
	

(D) 	 

(h) 	F-1 4-1 14 74 	fiNiTur 	 ? 

(i) f91:67 fff-&u1.  

(ii) 011,311 t 1:Lf fa-qi-Tur 

(iii) tc\Lf 	f9giTTI 

(iv) 1-14Tiq 11- f fff4i-t-ur 

(i) 	f-1=9-F(9-ftra .4 A 	ii-f-4T 

(i) 

3T 

15r-C*-Thir 	cF\LI141) -Icl) AFT 3-M*7 

(iv) fTTftL c.) TNT cht 33TTR 

	

(i) 	 (ii) 7f-T 

ff--4rr 	 (iv) 4-4 7.4150 (4-1111 

2. 	Tt14 TTT 	f*-Fft -) 	ch) Fc14 	3-12i 
	

10 

"qT 311%1TITU F-clA -q91 I 
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3.  10 -qf TR 7re q9T4 	 -k faN3T -cr m1 3rfwzrT 	 ch1 F- N 
-Trrum A.  fq-ur 	1 

4.  -crW TR-ft 	1 -7T -1 	r-cN 10 chi 	dr-qcf 391:1M 4 --q-a-TI I 	=4 
(=hi 4- 	9.ft f-ff6 1 

5.  

6. 

-----(z 3174 c11-1 	--o=l-r-- 	chr ka--o'frr 	-q-r'i 10 

*r vl-r 	t 	v R----  4171 -q-91 .  'k fafim ,Aq' en1 10 

r--q9-ri 

7. -k 5\r11-1 	fq-iim 11--- 	cni qui7 ch 	 I 10 
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